IF6130

LI TT 5%

IFB3002-BPKG/PULLDOWN/0,4M/AMP

REE 3 PR ER I

M12x1
————— | ———

ce g8

= i REAE

H st PNP

i Thig I

JE RV 2 [mm] 2

Hhi% WAL K
) [mm] M12x1/L=38
FERRITERE K (1 SR
TAERE \Y| 5...30 DC
HL R ALFE [mA] <32
B4 5 I
ARG 1
B PNP

i Dhe HWIF
FFREMDCHERFREANE V] 25
g%%mﬁDcwﬁﬁﬁmﬁ [mA] 50
JFRHiDC [HZ] 700

L A f

L AR Ar Y ik
AR f

TV B B [mm] 2

S BRI B 25 ST [mm] 2+10%
TAEER [mm] 0...1.62
K 1 JE R P 2 H
LAY B L EERIAR: 0.7 1 364 0.5/ 45: 0.4/ 41: 0.3
B [SritE 4] 1..15
TR S S [SritE 5] -10...10

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669 + 4/ ri1iff [l 45 4Lk 400 880 6651 — Ffl it f AHLHTIM NI 4 W HAS KA . — ZH-CN — IF6130-01 — 05.11.2020 — &



IF6130

LI TT 5%

IFB3002-BPKG/PULLDOWN/0,4M/AMP

TAESAE
MBI [°C] -25...80
SN IP 67
NE/ A
EMC i it 25 EN 61000-4-2 ESD 4kvCD/8kVAD
EN 61000-4-3 HF B i 347 5 3 Vim
EN 61000-4-4 Burst 2kv
EN 61000-4-6 i 4tz B (1 & S B 5 3V
EN 55011 5B
MTTF [4£] 2972
BB A
i [g] 52
Hhite ST
P FPaedks
R [mm] M12x1/L =38
IRGARS M12 x 1
JEAA R BRLUES T HEH AR N PBT; [ MR RE: #R; s TPU
¥ AR [Nm] /

R B

IR FFIARZS 1 x LED, # {5
B
L1 T [ 2 HER): 2
R % 2T P AR AN 32 [A) (F L .12 KOhm) > F BHISFNA i) (1 B BHL (1.2 kOhm).
i TFE 25 PR ) 3SR
(L) 1
45 0.4 m, PVC; 3 x 0.34 mm?
B0
_/BN 31 L+
<U> BK _::2

— \&.& B
BN )
BK g
BU W

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669 + 4/ ri1iff [l 45 4Lk 400 880 6651 — Ffl it f AHLHTIM NI 4 W HAS KA . — ZH-CN — IF6130-01 — 05.11.2020 — &



IF6130

LI TT 5%

IFB3002-BPKG/PULLDOWN/0,4M/AMP

FEAfE: 1 x AMP (282105-1, 183036-1, 281934-4)

St T (R AR AT« RIRETTMACHTIX « BB 615515146/ » Mi4i: 201208, FipL: 021 3813 4800 » fki(: 021 5027

8669 * 4x|H i 574k 400 880 6651 — JKA I Y AHLRATAN 148 H R B HAUMA] . — ZH-CN — IF6130-01 — 05.11.2020 — £



